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(ii) Troubled Asset Relief Program (TARP)

(4.s+4.s)
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(a) Under flexible exchange rate, flexible prices and

perfect capital mobility, explain the short run and

long run effects of monetary expansion on real
money balance. nominal and real exchange rates.

prices and output. (9)

(b) Explain the statements with reference to the

monetary approach to balance of payment:

Statement l: In an open economy with a fixed
exchange rate, money stock is endogenous.

Statement 2: Domestic credit control is a crude

but easy to understand policy to improve the

balance of payment.

Are these two statements related? Explain your

answer. (3+3+3:9)

(a) Explain the Taylor rule for setting the rate of
interest by the Central Bank. How is this
undertaken when unemployment is above its natural
rate? (6)

(b) Derive the three-equations model of IS-pC-MR to
explain how the monetary authority wilt achieve
the target rate of inflation of 4%o when the inflation
has risen ro 67o. (6)

(t,) iftc na rr qrv E{ ffrffu a'{+ + frs td{ ftqq
d qrsr dfrqt w ttq{t qqft nrfft-o q{ i ssr
*etdm*tfrqrwar*i
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dfus ilfu, T6 Frq A rd fr u-s IErdR 6% irs.

E6 rr€ * A iF+, yrfusiur 4% d g<reffR 6 aw
o q;1 y6 otrnr

(a) Explain the limits to monetary policy under a

liquidity trap. (9)

(b) Explain the following with an example :

(i) "Higher the leverage, more likely the bank
is to go bankrupt."
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4 (a) Do you agree that nominal depreciations typically

do not lead to improvements in the current account

during the short run? Explain the effect of changes

in relative prices on trade balance from the short

run to the long run. (9)

(b) Explain the following :

(i) The hysteresis effects of overvaluation

(ii) The extended asset market or portfolio

balance model

(iii) Three-point or Triangular arbitrage

' (3+3+3=9)
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2. (a) Write short notes on:

(i) Devaluation crisis

(ii) Wage Price sPiral

(iii) Beggar thy neighbour policy (3+3+3=9)
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(b) Explain why, under a fixed exchange rate system

with perfect capital mobility and fixed prices,
central banks cannot conduct an independent
monetary policy. How would this stance charige if
exchange rates are made flexible? (6+3=9;

(o.) frsrRtur qr ffiR ffi Rfts:
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3. (a) Describe the following statements :

(i) Can deficits become a way of passing some
of the burden of the war onto future
generations in an economy?

(ii) Suppose that the government reduces taxes
by I unit this.year and announces today
that to repay her debt, she will increase
taxes by (l+r) units next year. What will
be the effect of the initial tax cut on
consumption? ( 4.5+4.5)

(b) What are the steps that the Central Bank can
follow to establish its credibiiity for the announced
policy? Why is it important for the economy?

(e)
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